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1.7 2 A A2 A A S 5,000 0 5,000
2] 9} 2} %] ¢F %
E-QQE} 1A A 5,000 0 5,000 (A HA)EAA A 5,000,000 X 14= 5,000,000
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13. A3 300 300 0
1,995 300 300 0
14. A F-AF 400 400 0
1. dnkg=89) 400 400 0
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1.712FA D Q1 710 25,056 11,419 13,637 i:%ifégggiﬂilﬂ{lﬂﬂ*}ﬂﬁﬂl 11,944,000
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2.994] 60 60 0
19. 342 8% 2,000 2,000 0
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20,3744 7 2,400 2,400 0
1.Yguk5=4-1) 2,400 2,400 0
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1. 052 H| 1,878 1,878 0
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2. EAA G} A 0 0 0
1.&99% 0 0 0
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1.A7| 9% 2,490 2,490 0
2. 5G] 28,640/ 28,640 0
2.2 AHY 3L Y 1,524 1,524 0
1. 0%9n) 1,050 1,050 0
2. BAAG AT 2N 474 474 0
3. =B AAAA L 1,600 1,600 0
l.eds3 280 280 0
2. 8L 1,320 1,320 0
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1. 24 %9 2,000 2,000 0
1. 052 H| 2,000 2,000 0
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1. =474 H] 3,300 3,300 0
3. =AM B s ALY 39,700 0| 39,700
1. 40| 20,493 0| 20,493 géx%]lg)f”@a‘?‘%%%“ 18,780,000 18,780,000
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3.71et Aed u&ds 25,900/ 25,900 0
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1. A=A g 25,500 25,500 0
1.dnk 84 5,690 5,690 0
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Angm  angAue | TES i oS3
WEH ot 8,307 8,487 -180
1.3t Z 2 of S 8,307 8,487 -180
1,712k 2 921 7 w] 6,540 6,720 -180 il;%;lxmov FeEArEnl 1800004 ~180,000
2.4 Rk=8-1] 1,341 1,341 0
3.999 126 126 0
4. 059 300 300 0
LA TS 1,660 1,660 0
1. 8H5- Qb =91 2 1,660 1,660 0
1. g9kE-1) 1,205 1,205 0
2.4 60 60 0
3. EA ALY A -7 395 395 0
EIPSCRC 11,588 11,588 0
A3 5,400 5,400 0
1S 5,400 5,400 0
1.Yg5k541) 2,680 5,000 -2,320 5 4ua A -2,320,0009 X 14]= -2,320,000
2. g 400 400 0
3.HIET ] 2,320 0 2,320 7R aLA (H]5F)  2,320,0009 < 14 2,320,000
B3k 9o 6,188 6,188 0
1.8 w4 nsA Y 6,024 6,024 0
1.0 &g H| 6,024 6,024 0
2. 0T EolAT SR 164 164 0
1.+94% 110 110 0
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2. ZUE 9] 500 500 0
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1. dukg89)| 9,900 9,900 0
578570 A3 15,000 0 15,000

1.1 E-gH| 15,000 0 15,000 ffﬁéigi?ﬁﬂ 208 7 15,000,000
6.2 2w A 10,500 0 10,500

1. YR 722 0 722/ (A BA)AFA ALkt 95,0009 x 72 = 665,000

(AEA)ZzS5FE 57,0009 X 13]= 57,000

2.1 E T4 9,778 0 9,778 gizfj)%‘im@ A 1,520,000 9,240,000

E*éw&)%ﬁﬂ_e‘ A 268,800 <24 538.000
6.0 A 172,454| 167,494 4,960
1.8 w78 &9 60,198 59,558 640
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1.4 7,382 7,382 0
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2.9 E T4 2,800 1,800 1,000 A1 7-9] 1,000,0009 X 13]= 1,000,000
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